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FIG. P37.7

P37.30  Light reflecting from the first surface suffers phase reversal. Light reflecting from the second surface
does not, but passes twice through the thickness | of the film, So, for constructive interference, we

require

A
D 2f=4

3

H

s A . §
where i, =— is the wavelength in the material.

n

M
Then  z¢=2z_?t
2 In

A=dnt = 4(1.33)(115 nm) = [m nm |.
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P37.32  Since 1 <1.25< 133, light reflected both from the top and from the bottom surface of the oil suffers

phase reversal.

For constructive interference we require

and for destructive interference,

Then

Therefore,

2t = M eoms
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02,
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1 641]111!1__125 and m=2.
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P37.37  If the path length difference A = A , the transmitted light will be bright. Since A=2d=4,

dm:,,., :i: 'SRD nm —[imﬂ

FP33.4 For destructive interference,
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